Qo
hansa24g

Hansa Garage C GV2 320x575 70 G0180
Drawing/Zeichnung 3 D FFFFFF
Profile/Profil 7OX135 Scale/MaRstab e 31082022




5950

| L
100 1100
10

5&50

2670

2670

10

100

3400
| 3200 |
V 3000
100 D%Q 2860 100 | 100
100 70
o
=
o |
S o
S
N%
i
LQ N ﬂ
% =

75100
70

I
300

1035

95.5x55
WI106-KT

15.44 m2 .
e
mxl LN
A m
N S =
o3
I [aa] <Dv
= "~
Er
S x o
o®
GV-2 = ot
237x204.5 |
M~ o
wl3 =
o%
=
10 100
100, | 240 2380 240, 100
100 70 "
o Hansa Garage C GV2 320x575 70 *Y G0180
. 3 » ' 24_ Drawing/Zeichnung Plan_Grundean Format A3
Profile/Profil 70)(135 Scale/MaRstab 130 Date 24072022




2980

AT1

AT2 R
la
.70
o
=
N
AT3 & AT3 o
— & — n
LN
—
<
AT2
e | Hansa Garage C GV2 320x575 70 *Y G0180
VO ——
hansa24 2|~  Foundation beams_Lagerholzplan ormat A3
Profile/Profil 70)(135 Scale/MaRstab 130 Date 24072022




> Model 5 Profile |Lengfh
0> Hansa Garage C GV2 320x575 70 I tmm) | (mm]
Nofice! The gable pieces can be parfly pre-assembled!
Please nofice - Those differ from the descripfion given in the specification list.
Achtung! Die Giebelbohlen konnen feillweise schon varmonfiert sein!
Biffe beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.
000 | L |1 | 70x135 | 5950
200 2670 2670 200
200 2670 2670 200
002 D [ TH H HT | 1 T0x135 5950
003 ™ = . = | 19| 70x135 | 5750
100 2670 2670 100
004 T | g | T 1| 70x135 | 5750
1510 2670 100
005 WT_W Fjdﬁ rj—ﬂ F—Hﬂ 1 T0x135 L1470
1510 2670 100
006 || g T 10 | 70x135 | 4420
007 A o 3| 70x135 | 3400
008 ™ 2060 i 19 | 70x135 | 3200
100 2860 100
009 T 'l 1| 70x135 | 3200
100 2860 100
010 T ] 1| 70x135 | 3200
01" [ 2000 e 1| 70x68 | 3200
012 S CR— 3| 70x68 | 1565
013 o 2 | 70x68 | 410
014 T 16 | 70x135 | 410
015 T 8 | 70x135 | 410
016 T 6 | T0x135 | 410
017 T 19 | 70x135 | 370
018 O 16 | 70x135 | 370
019 B5h 8§ | 70x135 | 370
020 T 6 | T0x135 | 370
027 [ 2 | 70x68 | 370
022 4T L] 70135 | 345
023 1T 8 | 70x135 | 300
Kood Hansa Garage C GV2 320x575 70 | Mater jal File  Hansa Garage C GVZ 320x575 70.dwg Leht  1/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
1/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
70x126

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5950

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
003

AutoCAD SHX Text
19

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5750

AutoCAD SHX Text
100

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5750

AutoCAD SHX Text
100

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4420

AutoCAD SHX Text
1510

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
10

AutoCAD SHX Text
70x135

AutoCAD SHX Text
4420

AutoCAD SHX Text
1510

AutoCAD SHX Text
2670

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
3

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
200

AutoCAD SHX Text
2860

AutoCAD SHX Text
200

AutoCAD SHX Text
008

AutoCAD SHX Text
19

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2860

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2860

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2860

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2860

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
3

AutoCAD SHX Text
70x68

AutoCAD SHX Text
1565

AutoCAD SHX Text
1295

AutoCAD SHX Text
200

AutoCAD SHX Text
013

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
410

AutoCAD SHX Text
240

AutoCAD SHX Text
100

AutoCAD SHX Text
014

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
410

AutoCAD SHX Text
240

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
410

AutoCAD SHX Text
240

AutoCAD SHX Text
100

AutoCAD SHX Text
016

AutoCAD SHX Text
6

AutoCAD SHX Text
70x135

AutoCAD SHX Text
410

AutoCAD SHX Text
240

AutoCAD SHX Text
100

AutoCAD SHX Text
017

AutoCAD SHX Text
19

AutoCAD SHX Text
70x135

AutoCAD SHX Text
370

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
018

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
370

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
019

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
370

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
020

AutoCAD SHX Text
6

AutoCAD SHX Text
70x135

AutoCAD SHX Text
370

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
021

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
370

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
022

AutoCAD SHX Text
4

AutoCAD SHX Text
70x135

AutoCAD SHX Text
345

AutoCAD SHX Text
175

AutoCAD SHX Text
100

AutoCAD SHX Text
023

AutoCAD SHX Text
8

AutoCAD SHX Text
70x135

AutoCAD SHX Text
300

AutoCAD SHX Text
000

AutoCAD SHX Text
1

AutoCAD SHX Text
5950

AutoCAD SHX Text
extra log

AutoCAD SHX Text
70x135

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


> Model 5 Profile |Length
7> Hansa Garage C GV2 320x575 70 = (mm) | (mm)
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATT . . 7 T0x45 | 5390
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT? | . 7 TOxL45 2980
FOUNDATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 — 7 TOxL45 190
. 200 2670 PURLINS - PFETTEN 2670 200 | 5 | qo0105 | cocg
ROOF BOARDS - DACHBRETTER = C 53+ 13x18 | 3303
. . . 20.0
Ceiling mouldings - Deckenleisten é 15x73 o /LE
- ave slaf - Traufenleiste 18x / X
RLIOT-1 E lat - Traufenleiste 18x40 18x .40 rﬂlal(;m
KPL | Flat roof fillets - Dachpappenleisten ™ 15528 | O
07-1 rm/Lfm
KART-1| Paraper - Blende 336 " 72 | 18x336 | 3400
SAX | Parapet - Blende 336 2 2 | 18x336 | 3986
SAR 1 Parapet - Blende 336 2 2 | 18x336 | 2000
KZAEQ Parapet cover - U-Profil fur Blenden LLix65 20.0
_ rm/Lfm
Kﬁﬁ% Parapet support - Blendestutze L4x65 8 LLx65 200
PZA_?R Parapef- connecting slat - Blende- Verbindungsleiste 7 18x120 336
T-strip - T-Leiste 70 6 L90
T-strip - T-Leiste 70 7 1975
LK Hit block - Schlagholzer —<_ 3
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur I 530
2507 | Dachbrefter
g%a%) Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten = | 38
égdo Screws - Schrauben 3.0x30  for eave slats - fur Traufenleisten s | 24
KR-0 | Screws - Schrauben 3.0x30 for parapef connecting slat - fur ﬂ
3004 | Verbindungsleiste des Blendes 16
KR-0 | Screws - Schrauben 3.0x30  for roof felt fillets - fur
3005 | Dachpappenleisten || 24
L9 | Screws - Schrauben 35x45 (3 for U-profile - fir U-Profi { | &0
KR-0 | Screws - Schrauben 5.0x100  for foundafion beams - oo QI n
5080 | fur Fundamentholzer T
KR-0 | Screws - Schrauben 5.0x70 (3 for parapef fastening - fur wﬁﬁ:ﬁ 20
5037 | Blendenbefestigung
Kood Hansa Garage C GV?Z 320x575 70 | Materal File  Hansa Garage C GVZ 320x575 70.dwg Leht  2/6



AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
5390

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
2/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
190

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
5950

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2670

AutoCAD SHX Text
2670

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
53+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3303

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
20.0

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
12.0

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Flat roof fillets - Dachpappenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
13.0

AutoCAD SHX Text
KPL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3400

AutoCAD SHX Text
KAR1-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3986

AutoCAD SHX Text
KAR

AutoCAD SHX Text
1-2

AutoCAD SHX Text
Parapet cover - U-Profil für Blenden

AutoCAD SHX Text
40

AutoCAD SHX Text
44x65

AutoCAD SHX Text
20.0

AutoCAD SHX Text
KAR

AutoCAD SHX Text
2-1

AutoCAD SHX Text
Parapet support - Blendestütze 44x65

AutoCAD SHX Text
8

AutoCAD SHX Text
44x65

AutoCAD SHX Text
200

AutoCAD SHX Text
KAR

AutoCAD SHX Text
3-1

AutoCAD SHX Text
Parapet- connecting slat - Blende- Verbindungsleiste

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
336

AutoCAD SHX Text
KAR

AutoCAD SHX Text
4-1

AutoCAD SHX Text
T-strip - T-Leiste 70

AutoCAD SHX Text
6

AutoCAD SHX Text
490

AutoCAD SHX Text
T-strip - T-Leiste 70

AutoCAD SHX Text
2

AutoCAD SHX Text
1975

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
530

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
38

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3004

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for parapet connecting slat - für

AutoCAD SHX Text
Verbindungsleiste des Blendes

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3005

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for roof felt fillets - für

AutoCAD SHX Text
Dachpappenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3529

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for U-profile - für U-Profil

AutoCAD SHX Text
40

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5031

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for parapet fastening - für

AutoCAD SHX Text
Blendenbefestigung

AutoCAD SHX Text
80

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
2000

AutoCAD SHX Text
KAR

AutoCAD SHX Text
1-3

AutoCAD SHX Text
rm/lfm


Pos Model oee Profile |Lengfh
Hansa Garage L GV2 320x575 70 (mm) (mm)
JV1 | Metal bar - Metallstange @10 Q ) | 8 @10 900
JV?2 | Metal bar - Metallstange 210 Q ) | 4 710 830
JV3 | Metal bar - Metallstange @10 Q ) | 2 210 770
KLT | Threaded rod - Gewindestange M8 L 2000
KL2 | Threaded rod - Gewindestange M8 7 H86
KL3 | Threaded rod - Gewindestange M8 7 L60
Nut - Mutter M8 o) | -
Washer - Schelbe M8x24 L
Extended nut - Langmutter M3 L
Drive-in nut - Einschlagmutter M8 L
Kood Hansa Garage C GV?Z 320x575 70 | Materal File  Hansa Garage C GVZ 320x575 70.dwg Leht  3/6



AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
8

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
4

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
830

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
770

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
3/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
586

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
460

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4


> Model 5 Profile |Length
0S Hansa Garage C GV2 320x575 70 =1 (mm) | (mm)
WINDOW 955x550 3
W5-ST0K-0XT-09550550
955 |
3 Tempered glass - Gehartetes Glas
Opens inside - Offnet innen
KR-0 | Screws - Schrauben 3.5x45 (3 for door and window trims - fur 11 60
3524 | Tur- und Fensterleisten
Kood Hansa Garage C GV?Z 320x575 70 | Materal File  Hansa Garage C GVZ 320x575 70.dwg Leht  4/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
4/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 955x550

AutoCAD SHX Text
3

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
60

AutoCAD SHX Text
 W5-S70K-0XT-09550550


> Model 5 Profile |Length
0> Hansa Garage C GV2 320x575 70 ' (mml | (mm
DOOR 880x1975 1
D5-STOR-XXX-08801975
| 880 |
| _
Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen
D |le=
‘c_\ ©
I | | I
KR-0 | Screws - Schrauben 3.5x45 (3 for door and window frims - fur 1 | 26
3524 | Tur- und Fensterleisten
Kood Hansa Garage C GV?Z 320x575 70 | Materal File  Hansa Garage C GVZ 320x575 70.dwg Leht  5/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
5/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 880x1975

AutoCAD SHX Text
 D5-S70R-XXX-08801975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
26


> Model 5 Profile |Length
0> Hansa Garage C GV2 320x575 70 ' (mml | (mm
DOGR 2370x2045 1
DO-VTOR-XXX-23702045
2310
| | Gv2
[ I ——— c——— 1]
Right handed - DIN rechts
Opens outside - Offnet aussen
[ I ——— c——— 1]
2 I
[ —— c——— ]|
GVO1 | Lock set - Schloss-Kit 1
KR-0 | Screws - Schrauben 3.5x45 (3 for door and window frims - fur 1| 30
3524 | TUr- und Fensterleisten
Kood Hansa Garage C GV?Z 320x575 70 | Materal File  Hansa Garage C GVZ 320x575 70.dwg Leht  5/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
5/6

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Hansa Garage C GV2 320x575 70

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 2370x2045

AutoCAD SHX Text
 D0-V70R-XXX-23702045

AutoCAD SHX Text
1

AutoCAD SHX Text
GV01

AutoCAD SHX Text
Lock set - Schloss-Kit

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
30


KI_1+K|_3 200 200 KL1+KL3

= = AT 1 002
= = 1T 003
8 8 LT 003
s s LT 003
s s LT 003
s s LT 003
= = LT 003
= = T 003
8 8 LT] 003
8 8 LT 003
s s LT 003
s s LT 003
s s LT 003
= = LT 003
= = T 003
8 8 LT] 003
H 8 LT 003

Sein A T~ ;E H 1] 003

2430

AT2

Ll 2670 L 2670 14
100~ 70 70 70 100
| 2740 | 2740 !

Neme Hansa Garage C GV2 320x575 70 *Y"G0180

- 1 __1._: , 24 Drawing/Zeichnung Wa”/Wand A Format A4

Profile/Profil 7X135 Scale/MaRstab 130 Date 31082022



AutoCAD SHX Text
Sein  A

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
002

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


Sein B 7|r

5986

2000 3986
5950 KL1+KL?
200 200
= = 001
= =11-003
T - 177003
Il - [ oos
Il 017 023 -1 022 023 {1 017
Il 017 023 o Hipl 022 o 023 o {1 017
Il 017 023 @ Hil 022 @ 023 3 {1 017
Il 017 023 Hil 022 023 {1 017
1] 017 R H[l 005
Il 017 R Hl] 006 3
Il 017 - | 006
il 017 g - {1 006
Il 017 - {1 006
Il 017 - {1 006
Il 017 - T 006
Il 017 - T 006
Il 017 R HT 006
Il 017 - | 006
a 017 = ~H|[] 006 |
< <
960 1 300 4 1035 UET 1035 1 300 4 1035 1200)
10 70 100 70 100
@ 2740 é) 2740 Cb
5750
N A Hansa Garage C GV2 320x575 70 "Y' G0180
ansa24 8| v Wall/Wand B Frmat A4
Profile/Profil 7X135 Scale/MaRstab 130 Date 31082022



AutoCAD SHX Text
Sein  B

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
017

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
022

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
ÜV3

AutoCAD SHX Text
ÜV3


T""'—_——_————_______—i:::;i_i I— o7t
— U

H 007
- - T dos
- -] 008
- H | 008
- H | 008
- H | 008
- - | 008
- -] 008
- -] 008
- -] 008
- H | 008
- H | 008
- - | 008
- - | 008
- -] 008
- -] 008
- -] 008

B | 008
- O E—

336

[
I
2565

Sein 1 qv—

Ll 2860 L
109 70 70 100
| 2930 1

3200

Neme Hansa Garage C GV2 320x575 70 *Y"G0180

1813 24< Drawing/Zeichnung VVa||/Waﬂd 1 Format A4

Profile/Profil 7X135 Scale/MaRstab 130 Date 31082022



AutoCAD SHX Text
Sein  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1


Sein 2 7|r

10

3133303 2061
T/j = 012 —
= =] =0 H ] 007

H a T 808
H L] 010
H [T 078 7 018

] 018 1 018
THS] 018 IHT 018
] 018 P H 018
THTI 019 7] 019
THTT] 019 H1019 4
THT ] 020 020 2
=] 020 =TH 020
= ] 020 —1H | 020
THTT 019 ] 019
g 019 = | 019
H. [ 018 O H o018
H[ 018 HHT 018
HT 018 oo
H ] 018 1 018

021 021 —

< <

200, 2460 2000y

| 2930 |

®

3200
A" Hansa Garage C GV2 320x575 70 *¥ G0180
}‘f Z"ﬁ iT (:; E} 24<) Drawing/Zeichnung Wa“/Waﬂd 2 Format A4
Profile/Profil 7X135 Scale/MaRstab 130 Date 31082022



AutoCAD SHX Text
Sein  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
018

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
019

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
021

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


3133303 2061
T/J = 012 —1
= =1 O H ] 007
H a LT 08
H ~ T _H 009
H [T ] 01
H ] o1 ] o1
CHS[ 014 B HT o
HE o1 P H| 014
HTI o5 ] 015
THTT] 015 015 g
HT | 016 016 &
B 0t6 g SITH 016
| 016 < —=H ] 016
THT] 015 ] 015
CHTT o5 ] 015
TH ] o1 [ H o
TH>T 01s T H ot
HTT o1 T H] o1s
mimif g
Sein 3 7|r —
| 240 2380 1260
100 70 © 70 00
| 2930 |
®
3200
Ol Hansa Garage C GV2 320x575 70 *“ 60180
ff Z] |‘ r': (_‘* 24<‘ Drawing/Zeichnung VVa||/Waﬂd 3 Format A4
Profile/Profil 7X135 Scale/MaRstab 130 Date 31082022



AutoCAD SHX Text
Sein  3

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


